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Practice - Linear Equations 3

S\\M'\h% Yovn meknods... shick s waat

Solv%egh of the following.

1) 4(x-3)=20

4x -\aa =30
Hx = 20 +\d
Hx =32 (=%
I
3) 9-3(2n-7)
3 3
Y = an-T1
347 = An

ocu (327
%Y
5) —Tlx+8)==14y
=T%x = -4 + 56
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7) _2i=6(—x—3)
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H= = X=7
H+3=-X
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2) —g)}s):u
-6X%x -30 =3
—GX = \a +¥30
-G6Gx ='i'§_
-¢ -6

4) -36=6(x-2)
6 6

~6zx- X-3
—6%¥3 =X
-4 = x
6) -2--(2n-8)
-2=-3an+8
-~ ~-%=-an
-\Q0 = -3

x=-1

- bn-%=29%
- 6 = QS*S

~ew=0
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Review of Linear Equations:
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Grade 8 Math Review Linear Equations

Example 2 - Involving Division

Solve each of the following:
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Complete the following:  Practice - Linear Equations 2A (odd)s
Practice - Linear Equations 2B (odds)
Check your solutions using the key provided.

Qutcomes: PR2 - Model and solve problems involving linear equations







